IMPORTANT HOSE REEL MOUNTING INSTRUCTIONS AND

TEMPLATE

Due to the many types of surfaces on which the hose reel could be installed, we have outlined some

guidelines that may be useful to you for your particular application.

For installation on a brick, cement, cinder block or other hard surface

1.

We recommend acquiring the following items for installation:

a.
b.
c
d

(S

Four 1/4" x 1 1/2" lag screws

Four 1/4" x 3/4" aluminum anchors

Four 1/4" flat washers

Power drill (or hammer drill) with a 1/2" masonry drill bit
7/16" socket wrench or adjustable wrench

The directions that follow assume that you are using these items.

After you have selected a particular location for mounting the hose reel, use the mounting template to
mark the locations for drilling the four mounting holes.

Drill a 1/2" diameter hole at each of the locations marked.

Insert an anchor in each of the four holes.

Align the holes on the hose reel mounting bracket with the anchors in the wall. Insert the lag screws with
washers attached and cinch down each lag screw.

2.

W

For installation on a wood, drywall or stucco surface

1.

We recommend acquiring the following items for installation:

e a0 or

2" x 10" x 20" piece of lumber

Four lag screws for attaching lumber to wall

Four 1/4" x 1 1/4" lag screws for attaching hose reel to piece of lumber
Eight 1/4" flat washers

Power drill with drill bit(s) slightly smaller than lag screws

7/16" socket wrench or adjustable wrench

After you have selected a particular location for mounting the hose reel, determine the location of the
studs in the walls. The piece of lumber must be mounted to the studs to provide a sturdy base for mount-
ing your hose reel.

Mount the wood base to the studs using the four lag screws with washers attached. Then use the mounting
template to mark the locations for drilling the 4 mounting holes on the wood base.

At each of the 4 locations marked, drill a hole slightly smaller than the diameter of the 1/4" x 1 1/4" lag
screw.

Align the holes on the hose reel mounting bracket with the holes drilled in the wood base. Insert the lag
screws with washers attached and cinch down each lag screw.

FOR FURTHER ASSISTANCE, PLEASE REFER TO YOUR INSTRUCTION MANUAL TO CONTACT YOUR
PRODUCT SPECIALIST.

Form No. 1134-103
Rev. 3/03



.00

.00

4

.50




